Perfect Cubes
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Factor:

2. 2Tm3-64 = [(Sm—Hj(qmz+11m+/@>\,

a= dw

b =4

Factoring the difference of perfect cubes:
a’-b®=(a-b)@+ab+b?

Factor the following:

1. 8x3-125 :]CTX—SXWE ()% 4-25? W

a= LK

7N

Is there a way to factor the sum of perfect cubes?
YES a2+ pi=(a+b)a?-ab+b?)

Factor the following: sy

1. 643 +1 = (L\x+\X\bxz—le+\>
A=HX
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Factor: Solving equations using the sum/diff of cubes formulas:

3 _ 3 = _ 2 2
2. 125m°+216p° = | (Gmikp) (&'M”—'iov«f %5 e L i A

a= Sm ‘

These Quadratics are NEVER
(0 factorable.
\9 = ? You must use the Quadratic Formula
j to find these two solutions

/\

a® + b> = (a + b)(a® — ab + b?)

Find ALL solutions, real and imaginary by factoring Find ALL solutions, real and imaginary by factoring
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You can now finish Hwk #30: Sec 6-4
Pages 330-331

Problems 12, 14, 16, 45, 48, 54, 57

Due tomorrow



